

MATHENY MOTOR TRUCK CO. Established 1922

726 SW 46th Ave. Ocala, FL 34474 (P) 352-629-6305 www.mathenyfire.com

Apparatus Proposal

DATE:

December 18,2024

The Proposal has been prepared for:
Charlotte County Board of County Commission

For
Charlotte County Fire & EMS

26571 Airport Road

Punta Gorda, Fl 33982

Matheny Fire and Emergency is pleased to offer Charlotte County (1) 2027 E-One rescue pumper on a Cyclone chassis. This unit is quoted using the open Florida Sheriff's Contract FSA23-VEF17.0. This vehicle shall be in accordance with the attached specifications. The purchase price shall include all vehicle components and NFPA equipment as requested by the fire department as detailed in the Matheny Fire and Emergency Proposal.

Delivery will be F.O.B. Customer Location and will be made approximately 910 Calendar days after receipt of purchase order in Ocala Florida. Terms of payment shall be net 45 at delivery.

Pumper -Level 2 Custom 4- Door Cyclone Base Model Item 114:	\$ 732,811.00
Equipment And Additional Options: (See attached):	\$ +422,182.00
Trade in of 2005 E-One pumper SO # 130114:	\$ - 6,000.00
Total Cost of Pumper:	\$ 1,148,933.00

This quote is valid for 30 days unless extended in writing.

CONTINGENCIES: Matheny will not be liable for any delay, failure to make delivery, or other default due to strikes or labor unrest, war, riot, federal, state, or local government action, fire, flood or other disaster or acts of God, accidents, breakdown of machinery, lack of or inability to obtain materials, commercial chassis', parts or supplies, or any other causes or circumstances beyond the reasonable control of Company which prevent or hinder Company's manufacture and/or delivery of the apparatus. Additionally, the quoted pricing may be subject to manufacturer price adjustment for any unforeseen materials and/or component cost increases incurred at time of materials acquisition and/or production in the form of a material cost increase. Supporting documentation shall be provided detailing any changes that may impact final pricing and delivery.

<u>CHANGES IN REGULATIONS/INDUSTRY STANDARDS:</u> The Pricing is subject to adjustment for changes to the Apparatus necessitated by changes in applicable government regulations (such as FMVSS or emissions regulations), industry standards (such as NFPA standards),



















MATHENY MOTOR TRUCK CO. Established 1922

726 SW 46th Ave. Ocala, FL 34474 (P) 352-629-6305 www.mathenyfire.com

replacement of discounted models or components from vendors, or freight charges. Buyer is responsible for any cost increases due to such changes beyond Matheny control and is above and beyond standard annual price increases.

This proposal is deemed acceptable by the undersigned. In witness whereof, The Company and the Purchaser shall execute and agreement to this proposal with signatures and authorizations representatives as of the date set forth by each.

Steve Kern – Territory Sales Manager

Dee Daniels - Director of Apparatus Sales

Du Doneilo



















Equipment & Service Proposal

Customer: Charlotte County - Pumper 2026

Contact Steve Kern
Last Updated: November 26,2024

•					Selling Price	Ext Actual	Extended Selling	
<u>Item</u>	Part #	Vendor	Otv.	<u>Um</u>	Each	Cost	<u>Price</u>	
Equipment								
2 1/2 HIGH RANGE TURBOJET NOZZLE W/PISTOL								
GRIP	1733	Akron	2	EA	\$ 1,467.34	\$ -	\$ 2,934.68	
SHUTOFF PLAIN TIP W/ PISTOL GRIP	1446	Akron	1	EA	\$ 913.34	\$ -	\$ 913.34	
GATED WYE 2 1/2 (2) 1 1/2	2581	Akron	1	EA	\$ 701.23	\$ -	\$ 701.23	
95 GPM INLINE EDUCTOR - 1.5"	3095	Akron	1	EA	\$ 2,104.00	\$ -	\$ 2,104.00	
AXIAL PLAYPIPE W/ STACKED TIPS	2393	Akron	1	EA	\$ 1,745.00	\$ -	\$ 1,745.00	
2.5" Holder	03730004	Akron	7	EA	\$ 195.45	\$ -	\$ 1,368.15	
6 lb flathead axe	FA-6	Fire Hooks	1	EA	\$ 156.00	\$ -	\$ 156.00	
6 lb pickhead axe	FAP-6	Fire Hooks	1	EA	\$ 145.00	\$ -	\$ 145.00	
Pick Axe cover	AXE CAP	Fire Hooks	1	EA	\$ 4.56	\$ -	\$ 4.56	
1 Gallon Safety Can	6UZN1	Grainger	2	EA	\$ 145.34	\$ -	\$ 290.68	
Halligan Tool 36"	LB-36	Leatherhead	1	EA	\$ 403.45	\$ -	\$ 403.45	
(4) standard spanners w/ holder	HSSW-401	Harrington	3	EA	\$ 240.44	\$ -	\$ 721.32	
5" BLIND CAPS	HBC-50	Harrington	2	EA	\$ 156.00	\$ -	\$ 312.00	
5" STORZ 30 DEGREE ADAPTER ELBOW	H30E-50-30NH	Harrington	1	EA	\$ 434.00	\$ -	\$ 434.00	
Salvage cover 22oz vinyl red	HTV-12x18	Husky	2	EA	\$ 386.00	\$ -	\$ 772.00	
5" Storz X 4.5" F NH Long Handle	S54L545	Kochek	1	EA	\$ 301.00	\$ -	\$ 301.00	
2.5" X 1.5" Adapter	37R2515	Kochek	1	EA	\$ 52.34	\$ -	\$ 52.34	
Double Male Adapter 2.5"	36R2525	Kochek	2	EA	\$ 42.34	\$ -	\$ 84.68	
Double Female Adapter 2.5"	35R2525	Kochek	2	EA	\$ 62.23	\$ -	\$ 124.46	
5" STZ X 2.5" FEM Swivel Adapter	S54R525	Kochek	1	EA	\$ 245.34	\$ -	\$ 245.34	
6' pike pole	NYF-6'	Fire Hooks	1	EA	\$ 175.00	\$ -	\$ 175.00	
8' pike pole	NYF-8'	Fire Hooks	1	EA	\$ 222.00	\$ -	\$ 222.00	
6ft NEW YORKER HOOK w/ gas shutoff	RH-6' w/gas	Fire Hooks	1	EA	\$ 256.00	\$ -	\$ 256.00	
ROUND POINT D HANDLE SHOVEL	SHV-P27	Fire Hooks	1	EA	\$ 100.02	\$ -	\$ 100.02	
SQUARE HEAD D RING SHOVEL	SHV-F27	Fire Hooks	1	EA	\$ 100.02	\$ -	\$ 100.02	
8# SLEDGE HAMMER	SHF-8	Fire Hooks	1	EA	\$ 72.00	\$ -	\$ 72.00	
BOLT CUTTER	BC-24	Fire Hooks	1	EA	\$ 134.56	\$ -	\$ 134.56	
Hammer	HAM-3	Fire Hooks	1	EA	\$ 37.56	\$ -	\$ 37.56	
Handle Lok - Yellow	1004Y	PAC	6	EA	\$ 68.00	\$ -	\$ 408.00	
Toollok	1003-HD	PAC	3	EA	\$ 53.00	\$ -	\$ 159.00	
Spanner set	148-3	Red Head	3	EA	\$ 301.00	\$ -	\$ 903.00	
S44-SL3 Spreader EFORCE 3.0	EF.ART.109.370.3	Rescue Sys UnImtd	1	EA	\$ 24,124.14	\$ -	\$ 24,124.14	
C236-SL3 NXTGEN EFORCE 3.0	EF.ART.109.351.4	Rescue Sys UnImtd	1	EA	\$ 24,968.71	\$ -	\$ 24,968.71	
21"-36" Ram EFORCE 3.0	EF.ART.107.527.2	Rescue Sys UnImtd	1	EA	\$ 18,396.56	\$ -	\$ 18,396.56	
EFORCE RAM KIT W/12" EXT & V-HEADS	EF.ART.011.520.5	Rescue Sys Unlmtd	1	EA	\$ 2,961.24	\$ -	\$ 2,961.24	

EFORCE 3 Bay Charger 110V/28V Kit	EF.ART.105.410.8	Rescue Sys Unlmtd	1	EA	\$	893.49	\$ -	\$	893.49
M28 MILWAUKEE 28V 5A BATTERY	EF.ART.105.375.5	Rescue Sys Unlmtd	4	EA	\$	437.23	\$ -	\$	1,748.92
SINGLE BAY CHARGER 120V AC/28V	EF.ART.106.738.6	Rescue Sys Unlmtd	1	EA	\$	359.56	\$ -	\$	359.56
Master station, System 950	IM-950	Setcom	1	EA	\$	1,324.93	\$ -	\$	1,324.93
Headset	CSB-900R-1	Setcom	1	EA	\$	692.00	\$ -	\$	692.00
Headset	CSB-900L-1	Setcom	1	EA	\$	692.00	\$ -	\$	692.00
Jumpseat station	JS-900-20	Setcom	1	EA	\$	315.00	\$ -	\$	315.00
Headset	CSB-901R	Setcom	1	EA	\$	653.00	\$ -	\$	653.00
Headset	CSB-901L	Setcom	1	EA	\$	653.00	\$ -	\$	653.00
Pump Panel Jack	PS-900-50-2	Setcom	1	EA	\$	402.00	\$ -	\$	402.00
Radio Accessory Cable 18'	RC-18MU4K	Setcom	1	EA	\$	404.71	\$ -	\$	404.71
5101C sheild	ZAH5101C	South Park	2	EA	\$	45.00	\$ -	\$	90.00
Axe handle bracket	ZSMA5201C	South Park	2	EA	\$	38.00	\$ -	\$	76.00
Flir K-50 Thermal Imaging Camera	TFLK55	Team	1	EA	\$	10,450.00	\$ -	\$	10,450.00
Flir K-50 In Truck Charger	TFLTC	Team	1	EA	\$	1,345.00	\$ -	\$	1,345.00
20" PPV Fan Electric	V20-BL-12-AC-SP	SuperVac	1	EA	\$	5,789.00	\$ -	\$	5,789.00
SAFE-TAK COMBINATION PACKAGE - 5"STORZ									
INLET	XFC-52-1ST2L	TFT	1	EA	\$	8,234.00	\$ -	\$	8,234.00
ULTIMATIC 1125GPM 1" NH THREADS	B-BGH	TFT	2	EA	\$	1,345.00	\$ -	\$	2,690.00
MID-FORCE 70-200GPM 1.5"NH THREAD	HMD-VPGI	TFT	4	EA	\$	1,765.00	\$ -	\$	7,060.00
BIV-LP 5.0"STORZ X 6.0"F	ABD3ST-NX	TFT	1	EA	\$	1,904.00	\$ -	\$	1,904.00
Turtle tile - black	1212	Turtle Plastic	180	EA	\$	9.45	\$ -	\$	1,701.00
EDGE RAMPS MALE	AM-Y	Turtle Plastic	20	EA	\$	7.23	\$ -	\$	144.60
EDGE RAMPS FEMALE	AF-Y	Turtle Plastic	20	EA	\$	7.23	\$ -	\$	144.60
Folding wheel chocks	SAC-44-E	Zico	2	EA	\$	389.00	\$ -	\$	778.00
Wheel chock hoders	SQCH-44-H	Zico	2	EA	\$	145.00	\$ -	\$	290.00
Air Pack Brackets	UH-6-30-3-SF	Zico	2	EA	\$	91.45	\$ -	\$	182.90
Nozzle holder	NBM-2	Zico	2	EA	\$	201.00	\$ -	\$	402.00
Bolt cutter mount	BCB	Zico	1	EA	\$	143.89	\$ -	\$	143.89
Large saw mount	VQM-CSM-L	Zico	2	EA	\$	205.56	\$ -	\$	411.12
Halligan Mount Bracket	MB-SQB	Zico	1	EA	\$	145.34	\$ -	\$	145.34
Vertical Mount	VM-7	Zico	1	EA	\$	40.22	\$ -	\$	40.22
Aluminum Base Mount	ABM-1	Zico	6	EA	\$	34.56	\$ -	\$	207.36
Collision Res Strap	CRS	Zico	2	EA	\$	67.69	\$ -	\$	135.38
Survivor - 12V DC Fast Charge - Orange	90509	Streamlight	3	EA	\$	275.56	\$ -	\$	826.68
Spanner wrench style 103	103	Red Head	2	ea	\$	23.45	\$ -	\$	46.90
TOTAL Equipment					\$	-		\$	137,334.06
Freight								\$	1,500.00
Total Equipment Freight								\$	138,834.06
HOSE					20.05			200	
1" Rubber Booster Hose 50' sections	BH10x50R10N	FireEquip	8	EA	\$	890.67	\$ -	\$	7,125.36
6" X 10' Maxi Flex Suction Hose	MF60x10C60NMX60NFL	FireEquip	2	EA	\$	1,345.78	\$ -	\$	2,691.56
3" YELLOW W/ 2.5" COUPLINGS 50' SECTIONS	WII CONTOCOUTIVINOUTI L	i ilocquip		L (Ť	.,	,	100	
KEY-LITE	DP30-800PU-Y-ARN	KEY	8	EA	\$	502.45	\$ -	\$	4,019.60
2.5" BLUE W/ 2.5 COUPLINGS 50' SECTIONS KEY-					Ė			180	
LITE	DP25-800PU-BL-50	KEY	4	EA	\$	403.67	\$ -	\$	1,614.68
COMBAT READY 1.3/4" ORANGE W/ 1 3/4								36	
COUPLINGS 50' SECTIONS	DP17100ORG50ARN	KEY	13	EA	\$	523.44	\$ -	\$	6,804.72

ECO-10 STYLE 5" YELLOW W 5"STORZ COUPLINGS 100' SECTIONS	DP50600Y-100STRZ	KEY	12	EA	\$	1,678.34	\$	-	\$	20,140.08
5" Hose - 50' Section	RC50-450	Key	2	EA	\$	917.00	\$	-	\$	1,834.00
TOTAL HOSE		-							\$	44,230.00
Freight									\$	1,500.00
Total Hose / Freight									\$	45,730.00
PLEASE NOTE PRICING REFLECTS ESTIMATED P	RICE INCREASES DUE TO PE	RODUCTION LEAD	TIME O	N NEW	APP	ARATUS.				
Service										
Installation of the above equipment	29 hrs@ \$175 Per HR	Matheny	1	EA	\$	175.00	\$	175.00	Ś	5,075.00
mistaliation of the above equipment	25 1115@ \$275 61 1111	mamony	+-		1		\$	-	\$	
			+		 		\$	-	\$	
			+		<u> </u>		\$		5	
					<u> </u>		Ť		7	
Total Service									\$	5,075.00
Additional Options Requested By The Fire Departm	nent									
Additional Vista IV Display Officer Side			T		T				\$	4,230.00
2027 X10 450 HP EVS4000 Transmission										\$78,571.00
2001 Foam Pro Foam System									\$	23,789.00
20 Gallon Foam Tank	 				<u> </u>				\$	3,567.0
Foam Pro Foam System Refill									\$	6,250.00
Back Camera Safety vision for V-Mux									\$	4,678.00
4-Piece Aluminum Hose Bed Cover				**					\$	9,123.00
Upgrade to Heavy Duty Front bumper with Chevron to										
match rear Dual preconnects									\$	17,380.00
Graphics to match new scheme									\$	6,000.00
Top Mount Pump										\$5,245
Traffic advisor										\$4,456
Booster reel officer and driver side pump module pan			4		_				\$	10,170.00
Painted roll up doors X6			_				_		\$	6,234.00
Under Cab lower steps			\perp		_				\$	1,728.00
Driver and Officer can EMS compartments.			\perp						\$	8,854.00
LED Scene lights (pair) top of body									\$	8,564.00
Storage of backboards rear of body access							_		\$	6,743.00
Air compressor Kussmaul with auto drain									\$	1,878.00
Fire Tec LED Headlights			_		_				\$	2,234.00
Shelving ,trays and tool board									\$	5,656.00
TFT Extend A Gun 3" Manual							_		\$	3,688.00
Two Tone cab upper Gray Metallic									4	\$4,417
Whelen Side facing (PR)									\$	6,234.00
Additional Water Level Light Whelen (PR)			_						\$	2,854.00
Total Options									\$	232,542.94
Total Equipment, Service, & Options									\$	422,182.00